

1) $f(x) = \sin x - \frac{1}{2}x$
 QUANTE SOL. HA $f(x) = 0$?

$f(x) = \sin x - \frac{1}{2}x$
 $f'(x) = \cos x - \frac{1}{2}$
 $f''(x) = -\sin x$

$f(x) = 0 \iff \sin x = \frac{1}{2}x$
 Soluzioni: $x=0$ and $x=\frac{\pi}{3}$

2) COMPARARE LE FUNZIONI DI IMPIEDITO

$a_n = \left(\frac{n+1}{n}\right)^{\frac{1}{n}}$
 $b_n = \left(\frac{n}{n+1}\right)^{\frac{1}{n}}$
 $c_n = \left(\frac{n+1}{n}\right)^{\frac{1}{n+1}}$

$d_n = \left(1 + \frac{1}{n}\right)^{\frac{1}{n}}$
 $e_n = \left(1 + \frac{1}{n}\right)^{\frac{1}{n+1}}$

$d_n \approx e^{\frac{1}{n^2}}$
 $e_n \approx e^{-\frac{1}{n^2}}$

3) STUDIARE UNIF. CONT. E LIPSCH. SU $[0,1]$ E $(1,+\infty)$

DI $f(x) = \ln(1 + \sqrt{x} \cdot e^x)$
 $\psi(x) = \sqrt{x + x^2}$

4) STUDIARE UC. E LIP. DI

$f(x) = \sin x^2$ $g(x) = \sqrt{1+\sin x}$
 $h(x) = \frac{\sin e^x}{1+\sin x}$ $F(x) = |\sin x|$
 $G(x) = |\sin x|^x$

$\{a_n\} = x_0$
 $\{a_{n+1}\} = f(a_n)$
 $f(x) = 2x$

$a_{n+1} = 2a_n$
 $a_1 = 5$
 $a_n = 5 \cdot 2^{n-1} \rightarrow +\infty$

$S = \sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}}$
 $S = \sqrt{1+S}$
 $S^2 = S+1$
 $S^2 - S - 1 = 0$
 $S = \frac{1 \pm \sqrt{5}}{2}$
 $S = 1 + 2 + 4 + 8 + \dots \rightarrow +\infty$

$S = 1 + 2(1 + 2 + 4 + \dots)$
 $S = 1 + 2S$
 $S = -1$

$S = 1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \dots$
 $S = 1 + \frac{1}{2}(1 + \frac{1}{2} + \frac{1}{4} + \dots)$
 $S = 1 + \frac{1}{2}S$
 $S = 2$

$\sqrt{1 + \sqrt{1 + \sqrt{1 + \dots}}}$
 $a_1 = 1$
 $a_2 = \sqrt{1+1} = \sqrt{2}$
 $a_3 = \sqrt{1 + \sqrt{2}}$
 $f(x) = \sqrt{1+x}$
 $L = f(a_n)$
 $a_1 = 1$
 $a_2 = \sqrt{2}$

$\{a_n\} = 1 + 2n$
 $a_1 = 1$
 $a_2 = 3$
 $a_3 = 5$
 $a_4 = 7$
 $a_5 = 9$
 $a_6 = 11$
 $a_7 = 13$
 $a_8 = 15$
 $a_9 = 17$
 $a_{10} = 19$
 $a_{11} = 21$
 $a_{12} = 23$
 $a_{13} = 25$
 $a_{14} = 27$
 $a_{15} = 29$
 $a_{16} = 31$
 $a_{17} = 33$
 $a_{18} = 35$
 $a_{19} = 37$
 $a_{20} = 39$

Vero $\exists \epsilon \in (0, \pi)$ t.c.

$\frac{1}{1+x^2} - \cos(x) = \frac{1}{2}x^2 + \frac{1}{24}x^4 + \frac{1}{720}x^6 + \dots$
 $= x^2 \left(\frac{1}{2} + \frac{x^2}{24} + \frac{x^4}{720} + \dots \right)$

$\frac{1}{2} - x^2 \left(\frac{1}{2} + \frac{x^2}{24} + \frac{x^4}{720} + \dots \right) > 0$
 $\frac{1}{2} > x^2 \left(\frac{1}{2} + \frac{x^2}{24} + \frac{x^4}{720} + \dots \right)$
 $\frac{1}{2} > \frac{x^2}{2} \left(1 + \frac{x^2}{12} + \frac{x^4}{360} + \dots \right)$
 $1 > x^2 \left(1 + \frac{x^2}{12} + \frac{x^4}{360} + \dots \right)$
 $1 > x^2 + \frac{x^4}{12} + \frac{x^6}{360} + \dots$
 $1 - x^2 > \frac{x^4}{12} + \frac{x^6}{360} + \dots$
 $(1-x)^2 > \frac{x^4}{12} + \frac{x^6}{360} + \dots$
 $(1-x)^2 > \frac{x^4}{12} \left(1 + \frac{x^2}{30} + \frac{x^4}{360} + \dots \right)$
 $(1-x)^2 > \frac{x^4}{12} \left(1 + \frac{x^2}{30} + \frac{x^4}{360} + \dots \right)$
 $(1-x)^2 > \frac{x^4}{12} \left(1 + \frac{x^2}{30} + \frac{x^4}{360} + \dots \right)$
 $(1-x)^2 > \frac{x^4}{12} \left(1 + \frac{x^2}{30} + \frac{x^4}{360} + \dots \right)$

$\left(\frac{n+1}{n}\right)^{\frac{1}{n}} = e^{-\frac{1}{n^2} \ln\left(1 + \frac{1}{n}\right)}$

$\left(1 - \frac{1}{2n}\right)^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \ln\left(1 - \frac{1}{2n}\right)}$

$\left(1 - \frac{1}{2n}\right)^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \left(-\frac{1}{2n} - \frac{1}{24n^3} - \frac{1}{96n^5} - \dots\right)}$

$= e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$\left(\frac{n+1}{n}\right)^{\frac{1}{n}} = e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$\left(\frac{n+1}{n}\right)^{\frac{1}{n}} = e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \ln\left(1 - \frac{1}{2n}\right)}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \left(-\frac{1}{2n} - \frac{1}{24n^3} - \frac{1}{96n^5} - \dots\right)}$

$= e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \ln\left(1 - \frac{1}{2n}\right)}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{-\frac{1}{2n^2} \left(-\frac{1}{2n} - \frac{1}{24n^3} - \frac{1}{96n^5} - \dots\right)}$

$= e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$

$(1 - \frac{1}{2n})^{\frac{1}{n}} = e^{\frac{1}{4n^3} + \frac{1}{48n^5} + \frac{1}{96n^7} + \dots}$